*The renal pelvis receives two or three major
0.

calyces, each @{)wh?g%‘%ivides

: o) £ .
|\r;’§8\r\w*égggr@@.r%.mor calices.
Each minor calyx is indented by a
renal papilla, the apex of the renal
pyramid, from which the urine is

excretead.

*Renal pelvis continues as an
ureter

Renal column

— Medullary pyramid
. — Calyx

Renal Artery

Renal Vein

Renal
capsule

—Cortex




Transport Mechamsglagé_éﬂrss the Tubule
o\e .
gro™ N ﬁ 2o Y :

e Requires energy :
e Moves substances against .
their electrochemical

gradient.
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Directly coupled to energy
source.
e.g. Na'-K' ATPase.
Na' - H ™ ATPase.
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: Carrier protein. '
* e.g. Glucose & amino acid. |
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* Thin limb — simple squamous 4 | ';;} Actve transport
e 25% of filtered NaCl and K + is o gﬁ._‘gﬁwwmmr
reabsorbed as well as Ca2+, HCO3 - B\ L
in thick ascending limb 20% | H:0 : 20
* The ascending limb is impermeable all
to water (diluting segment). \
* 15% water absorbed in thin + Highly permeable to water |
descendin g limb ( perm eable to * Moderate permeability to solutes A ——

* Reabsorption of solutes in the thick segment

water). The descending thin limb
does not reabsorb NaCl.
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